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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes cach sentence.
Then mark the answer on your auswer sheet.

11}-
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It had not rained on the prairie for several months. Because of the drought, the climate
had become very ---------- =

1) unsteady 2) rigid 3) intense 4) arid

Deserted for six months, the property began to look more like a jungle and less like a
residence—weed grew ---------- in the front vard.

1) unchecked 2) unjustified 3) complicated 4) scanty

Can you please --—--—--—- this last part of the lesson for me; I’m not sure I understood.

1) recapitulate 2) identity 3) postulate 4) recount

Gerry’s dissatisfaction with our work was --—--——--—- in his expression, although he never
criticized us dircetly,

1) vulncrable 2) bright 3) implicit 4) humble

The world’s coal, oil and gas --—----—- arc finite; onc day they will run out, so think now
about what you can do to consume less,

1) appliances 2) deposils 3) rclics 4) amcnitics

You are recommended (0o use mnemonies to help you -———- important items of
information.

1) cnumcraie 2) cxpose 3) recall 4) withdraw

The lifcspan of a mayfly is -—--—--— » lasting from a few hours to a couple of days.

1) imprecise 2) ephemeral 3) superlicial 4) swill

His words to the press were deliberately ----------——-; he didn’t deny the reports but
ncither did he confirm them,

1) mutual 2) cssential 3) dogmalic 4) cquivocal
Hundreds of people had come to see a popular satire, but during the performance a fire
started in the theater, and the audience and actors had to -———---- the building
immediately.

1) expel 2) cvacuale 3) disperse 4) detach

Computers have helped solve some of the mathematical --—-----—- which have puzzled
man for many centuries.

1) conundrums 2) caprices 3) artilacts 4) chronologics
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

When Newton arrived at Cambridge. the Scientific Revolution of the 17th century was
alrcady in [ull force. The heliocentric view of the universe—theorized by astronomers
Nicolaus Copernicus and Johannes Kepler, (11) ---------- refined by Galileo  was well
known in most European academic circles.

’hilosopher René Descartes had begun to formulate a new concept of nature

{(12) -=mmmmm-- an intricate, impersonal and inert machine. (13} ---------- . like most
universities in Europe, Cambridge was steeped (14) ---------- Aristotelian philosophy
and a view of nature resting on a geocentric view of the universe, {15) ---------- with

nature in qualitative rather than quantitative terms.

11- 1) and was later 2) and later 3) later was 4) which was later
12- 1) like 2) such as 3)as 4) the samc

13- 1) Although 2) As though 3) Because 4y Yel

14- 1)in 2) lor 3) with 4)of

15- 1) dealt 2) dealing 3) by dealing 4) and was dealt

PART C: Reading Comprehension

Directions: Read the following three passages and answer the guestions by choosing the hest
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Amino acid and peptide chelates are absorbed efficiently. possibly because they are
taken up by the peptide absorption mechanism rather than the active transport
mechanism for minerals, although this has not been proven. Levels of iron in the
tissues of piglets have been improved by giving an iron proteinate to the sow.
Selenium enriched veast in diets for lactating cows has increased the transfer of
selenium to milk when compared with selenite. In the case of selenium the element is
not in the [orm of one of the complexes mentioned above, bul replaces sulphur in the
aminoacids that normally contain sulphur. However, inorganic selenium supplements
seem more effective and cost benefit. Mineral supplementation of animals in pasture
can be a problem. Mincrals can be incorporated into frec-access leed blocks, which
also provide a source ol cncrgy and mitrogen. The inclusion ol oil or molasscs
improves palatability.

Spraying the pasture with soluble salts ol trace ¢lements ¢an ingrease the ¢lement
content of the pasture. Alternatively, trace elements can be included in fertilizers in
order to increase the herbage content via the soil. I'or some of the trace elements. e.g.
cobalt and copper, a solid bolus can be deposited into the rumen using a dosing gun.
'This bolus dissolves slowly, giving a steady release of the element.

2] bl e &l 5 5ls o5 glie 555 Ol sl sl
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16- According to the passage, which statement is true?

1) Levels ol iron absorption mechanism is inaclive.

2) The mechanism for absorption of minerals is through active transpert.

3) Absorptlion ol peptide chelates takes place as an active transporlation,

4y All peptides and minerals are absorbed efficiently by active transportation.
17-  Which of the following materials has the most benefit to ruminants?

1) Inorganic mincrals 2) Sclenite
3) Aminoacids 4) Yeasts
18- Accessing some mincrals in pasture could be achieved by all the following EXCEPT
1) leed blocks 2) including in fertilizers
3) spraying the pasture 4) nitrogen intake
19-  Including molasses in animal feeds could be used as ------------- s
1) induction of energy 2) production of nitrogen
3) an appetizer additive 4) a mineral supplement
20- Prescription of some tracce clements takes place through --—------—-- :
1} inhalation by sprayving 2) insertion 1n the rumen
3) oral consumplion 4) intestinal absorption
PASSAGE 2:

The anterior pituitary gland plays a central role in the regulation of the endocrine
svstem. It secretes at least seven different hormones most of which regulate the
scerctions ol other endocrine organs. Although the anterior pituvitary reccives no direcl
neural input from the median eminence. it 1s now known that the hypothalamus plays a
key role in regulating anterior pituitary lfunction. Between the hypothalamus and the
anterior pituitary, there is a system of blood vessels known as the hypothalamic-
hypophyseal portal svstem which originates in the primary capillary plexus, a series of
capillary loops in the median cminence.

Most of the arteries that supply the anterior pituitary do not form a capillary
nctwork amongst the epithelial ¢ells; rather, they course upwards into the pituilary
stalk where they empty into a network of capillary sinuseids. The blood leaving this
primary capillary plexus then flows in parallel veins, the long portal vessels. down the
pituitary stalk to the anterior lobe. Here the portal veins break up into sinusoids which
form the main blood supply of the anterior pituitary. In response to neural activity, the
hypothalamic hormonces are released [rom the nerve endings into the hypophyscal
portal blood and are then carried down the pituitary stalk by the long portal veins to
the anterior lobe. Tlere they act on specilic pituitary cells to modily the rate of
secretion of one, or sometimes several, of the anterior pituitary hormones.

21-  Which statement is incompatible with the content of the first paragraph?
1} The median eminence lacks a neural input.
2) The pituitary gland 1s linked to the hypothalamus by the median eminence.
3) Many endocrine glands are regulated by the anterior pituitary gland.
4) The hypothalamus supports the functions of the pituitary gland.
22-  Which of the following structures do not support the median eminence?
Iy A primary capillary plexus 2) Some loops of capillaries
3) The hypothalamic portal systcm 4y An arlerial supply
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23-

25-

26-

27-

28-

29-

30-

Which one is the final bloond supply of the anterior pituitary gland?

1) Parallel veing 2) A sct of sinusoids

3) Long portal vessels 4) Capillary plexus

The content of this passage is mainly concerning --------—--—-—-,

1) Posterior pituitary 2) llypothalamic hormones

3) Anterior pituitary 4) [ lypophyseal portal blood

Which of the following is the origin site of the hypothalamic-hy pophyseal portal system?
1} Long portal veins 2) Secondary sinusoidal plexus

3) Primary capillary plexus 4) Hypophyseal portal veins

PASSAGE 3:

The carbohydrates are neutral ¢hemical compounds containing the clements carbon,
hydrogen and oxyvgen, With cx¢luding the former, the latter clements are mostly
present in the same proportion as in waler. Carbohydrates may be defined as
polvhydroxy aldchyvde, ketones or acids and their derivatives or compounds that yield
these derivatives on hydrolysis. One of the examples of carbohydrates where such
ratio is not found is the sugar deoxyribose, which is a constituent of DNA. Whereas.
acetic acid and lactic acid can be represented as hydrates of carbon, they are not
carbohydrates. The animal body contains less than one percent carbohydrate. found in
blood, muscles and liver. Active aldehyde and ketone groups in monosaccharide, act
as reducers of sugar substances. Thev can be oxidized to produce a number of acids
like gluconic acid. glucarie acid and glucoronic acid. The reducing properties of these
sugar substaces arc usually demonsirated by their ability 1o reduce cerlain melal ions
such as copper or silver in alkaline solution.

In the phrase “the latter elements...”, in the first lines of the passage, the word “the
latter” refers to ———-——--———,

1) oxygen and hydrogen 2) carbon and oxygen

3) hydrogen and Carbon 4) carbohydrates

Which element is not yielded from hydrolysis of carbohydrates derivatives?
1) Some acids 2) Polyhydroxy aldehyde

3) Ketones 4y Amino acids

As claimed in the text, which chemical is considered as a carbohydrate?

1) Nitric acid 2) Lactic acid

3) Deoxyribose 4y Acetic acid

All of the following organ tissues are the principal sites for the presence of
carbohydrates EXCEPT --—-----—--—-.

1) blood 2) kidney 3) liver 4) muscles

Oxidation of reducing sugar substances leads to the production of all of the following
acids EXCEPT -----——--——- -

1) Glucoronic acid 2) Glutamic acid

3) Glucaric acid 43 Gluconic acid
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